Installation Instructions rSbin 7

ASSA ABLOY

S800PT & 900PT Series

Freewheeling Lever Handle with Exit Device
Spindle Interaction

BLOCKING RING MORTISE
CYLINDER

NUT (CYLINDER)

CAP NUT

LOCKING
MECHANISM

GUARDING BRACKET

LEVER
HANDLE
GUARDING SPRING

TRUSS HEAD
MACHINE SCREW

CAM DETENT
SPRlNGw
PAN HEAD

BUSHING INSERT

MACHINE SCREW—=%
8MM RETAINING )
RING
EXTERNAL

CANRDGE 8MOOPT Series LH Freewheeling

HUB PLATE ET Trim shown

RETAINING RlNGj\@
COVER

PLATE

@ FLAT HEAD

MACHINE SCREW

\FLAT HEAD

MACHINE SCREW

SPINDLE LOCK

8MOOPT 8CVOOPT 800PT
Trim Shown Trim Shown Trim Shown

/A WARNING

Attention Installer: Improper
installation may result in damage
to the product and void the factory
warranty.

1-800-543-3658 « techsupport.corbinrusswin@assaabloy.com

Copyright © 2023 ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in whole or in Expe ri ence a Safe I
part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. Patent

pending and/or patent www.assaabloydss.com/patents. FM606 01/23 and maore Open WOI‘|d



800PT & 900PT Series Corbin Z

. . . . usswin
Freewheeling Lever Handle with Exit Device '

Installation Instructions ASSA ABLOY

800PT [ 900PT Series trim used with PED5200, PED5200 A, PED5200 HC, and PED5200 A HC rim type
exit devices.

Mortise

- /Cylinder
|

— Adapter screw must be

)
)

Rim
~— Cylinder

::
L

i
]
h—
1
|

0

pd on top
1O EX
—_—— 4— J—
PED5200 - - PED5200
RHRB N~ Adapter /" RHRB
shown shown

Important: See instruction sheet FM577 for PED5200 (A) AND PED5200 (A) HC and FM578 for
PED4200 exit devices mounting. Securely fasten adapter to spindle with set screw before mounting.

8CVOOPT [ 9CVOOPT Series trim used with PED4800, PED4800A MD, PED5800 MD, PED5800 A MD,
PED5800 WD and PED5800 A WD concealed vertical rod exit devices.

=

Important: See proper instruction sheet for exit device mounting.

FM582 - For PED4800 and PED4800 A
FM608 - For PED5800 WD and PED5800 A WD °
FM581 - For PED5800 MD and PED5800 A MD :

pooIIIis
L

J|

[=®

L]

[©]
- -l
<

n
—h
J

PED5800
RHRB shown
FM606 01/23
1-800-543-3658  techsupport.corbinr i bloy.com
Copyright © 2023 ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in whole or in EXpe rirence a Safe I
part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. Patent 2
pending and/or patent www.assaabloydss.com/patents. an d maore o pe nwo I‘| d



800PT & 900PT Series Corbin Z

: — Russwin
Freewheeling Lever Handle with Exit Device -

Installation Instructions ASSA ABLOY

Remove the external retaining ring. Loosen #4-40 x 3/16” flat head screws with a
screwdriver. Remove the flat head screws and cover

plate.

Remove the spindle lock and retaining plate. Push the locking mechanism to the right.

FM606 01/23

1-800-543-3658 « techsupport.corbinrusswin@assaabloy.com .
Copyright © 2023 ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in whole or in Expe rrenced Safe r

part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. Patent
pending and/or patent www.assaabloydss.com/patents. 3 and more Open World



S800PT & 900PT Series

Freewheeling Lever Handle with Exit Device

Installation Instructions

rS2EinA

ASSA ABLOY

%
—X]\

ZN

/N
\—7

2
(F

)ei‘
=
7 <

Q
3 ‘Q/‘ ‘\ \;/'—)

P
=

A

/S 2\
e

N\

Remove the cartridge.

7/

——\
) =

B —9\‘

;\_!/I,"

V=
ij’

=
:V‘\\
=S

N\

(R

_—
)\ T
~ (

=
D

AN
s

/\

Reinstall the cartridge.

Remove two #4-40 x 3/16” flat head screws from the

hub plate.

<
—
)7
% HEE
A ‘\

7

0%
W,
3-2

\

/

AN

1-800-543-3658 « techsupport.corbinrusswin@assaabloy.com

Copyright © 2023 ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in whole or in
part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. Patent

pending and/or patent www.assaabloydss.com/patents.

FM606 01/23

Experience a safer
and more open world



800PT & 900PT Series Corbin Z

: S v " Russwin
Freewheeling Lever Handle with Exit Device - .
Installation Instructions ASSA ABLOY

9 10
@
O
N
RIGHT
HAND o E
L
LEFT .
HAND Q5
[¢]
Turn the hub plate according to the door’s handing. Replace two #4-40 x 3/16” flat head screws to secure

the hub plate.

Move the locking mechanism to its original position. Insert the spindle lock. Make sure that the locking
mechanism inserts into the slot.

FM606 01/23
1-800-543-3658 « techsupport.corbinrusswin@assaabloy.com .
Copyright © 2023 ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in whole or in Expe rrenced Safe r
part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. Patent

pending and/or patent www.assaabloydss.com/patents. 5 and more Open World



800PT & 900PT Series Corbin A
usswin
Freewheeling Lever Handle with Exit Device

ASSA ABLOY

Installation Instructions

14

S

Reinstall the retainer plate.

Place the cover plate. Rotate according to the correct
handing.

15 16

%

N\
A

-
N

A
I
-'/IA

A8
i

W

4

—

EXTERNAL——
RETAINING

RING

\ =

),;: P2\
(S

A\ "IA/_A\ 3J\

Reinstall #4-40 x 3/16” flat head screws. Reinstall the external retaining ring.

FM606 01/23
1-800-543-3658 « techsupport.corbinrusswin@assaabloy.com
Copyright © 2023 ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in whole or in

part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. Patent
pending and/or patent www.assaabloydss.com/patents.

Experience a safer
and more open world



800PT & 900PT Series Corbin Z

. . . . usswin
Freewheeling Lever Handle with Exit Device -

Installation Instructions ASSA ABLOY

FM606 01/23
1-800-543-3658 « techsupport.corbinrusswin@assaabloy.com

Copyright © 2023 ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in whole or in Expe rrencea Safe r
part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. Patent
pending and/or patent www.assaabloydss.com/patents. 7 and maore Open WO rld



Ty |

ASSA ABLOY

/A WARNING

This product can expose you to
lead which is known to the state of
California to cause cancer and birth
defects or other reproductive harm.
For more information go to www.
P65warnings.ca.gov.

1-800-543-3658 « techsupport.corbinrusswin@assaabloy.com

Copyright © 2023 ASSA ABLOY Access and Egress Hardware Group, Inc. All rights reserved. Reproduction in whole or in EXpe rrence a Safer
part without the express written permission of ASSA ABLOY Access and Egress Hardware Group, Inc. is prohibited. Patent

pending and/or patent www.assaabloydss.com/patents. FM606 01/23 and more Open WOF|C|



